
 

tab. nr  2 

TABELA ROBÓT ZIEMNYCH - plac manewrowy 
 
 

km 
Hektom

etr 

Powierzchnia 
Średnia 

powierzchnia 
Odległo

ść 

Objętość zuży 
cie na 
miej 
scu 

Nadmiar 
objętości 

suma 
algebraiczna 

wykop 
+ 

nasyp 
- 

wykop 
+ 

nasy
p 
- 

wykop 
+ 

nasyp 
- 

wykop 
+ 

nasyp 
- 

wykop 
+ 

nasyp 
- 

m2 m2 mb m3 m3 m3 m3 

0 549,19 2,08 0,08 
 

- - 

1,22 0,77 58,16 70,95 44,78 44,78 26,17 - 

0 607,35 0,37 1,46 26,17 - 

0,24 3,76 46,95 11,27 176,53 11,27 - 165,26 

0 654,30 0,12 6,06  139,09 

1,07 3,03 32,70 34,99 99,08 34,99 - 64,09 

0 687,00 2,02 0,00  203,18 

        

      

RAZEM: 137,81 117,21 320,39 91,04 26,17 229,35 

      

        

      

Sprawdzenie: 320,39 -117,21 =203,18 

      
        

 


